+ FIERE (50%)

. Given a vector field E(x,y,z) = XE, (X, y, z) which satisfies the ruleVxE =0, what solution as followed is
true? (A)E, =2x (B)E, =2x+y (C)E, =3y (D)E, =2z (10%)

. Given a vector field E(r,¢,2) = ¢3 E, (r) which satisfies the ruleV xE =0, what solution as followed is true?
(A)E,=r (B) E,=1Ir (C) E,=1Ir* (D) E,=Inr (10%)

. Given a vector field E(r,8,¢) =T E, (r)which satisfies the ruleV-E =0, what solution as followed is true?
(A)E, =r (B) E,=1/r (C) E,=1/r* (D) E, =Inr (10%)

. Given a vector field E(r,0,¢) =T E,(r)which satisfies the ruleV-E =C, C =constant, what solution as
followed is true? (A)E, =r (B) E,=1/r (C) E, =1/r* (D) E, =Inr (10%)

. For an inductor circuit, VL(t)=L¥, if a current impulse (1 (t=07)=0,1_(t=0")=1, ) passes

through the inductor, what condition as followed is true? (A) V, (t=0)=0 (B) V, (t=0)=constant (C)
V (t=0)=0 (D) I| -7

CFETE (50%)

. (10%) Find the inverse of the matrix

1 -1 0
1 0 -1
-6 2 3

A=

. (10%) Find the determinants |A| and |A™| for the matrix

2 1 0 -2
121 0 2 3
A=l_1 1 0 2
2 3 0 1

. (10%) Write the vector w = (3, 4, 6) as a linear combination of vectors in the set
S={v1i=(1,2,3),v2=(0,1, 2),v3=(-2,0,1)}.

. (10%) Find the exponential Fourier series for the periodic signal x(t) = Acos(2rfot).

10. (10%) Find the Fourier transform of rect(t/T), where



